For all problems you need to use your calculator – I did part A for you-
1.	Of all the users of the web service Twitter, Lady Gaga (@ladygaga) has the most followers. At the start of year 2010, she had 3,200,000 followers. Her number of followers has been steadily increasing by 8% each month.
a.	Let f(x) stand for how many followers @ladygaga has, x months after the start of year 2010. 
Write a function formula for f(x).
f(x) = 3,200,000(1.08)x

b.	How many followers did @ladygaga have at the start of 2011?


c.	Solve graphically using the 2nd trace-intersect function on your calculator or by algebra using logarithms. Round your answer to two decimal places. When did the number of followers of @ladygaga surpass 5,000,000 ?



d.	Solve graphically using the 2nd trace-intersect function on your calculator or by algebra using logarithms. Round your answer to two decimal places Solve the equation f(x) = 10,000,000.  Explain the meaning of the answer as it relates to @ladygaga on Twitter
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v. Applications. SHOW ON A SEPARATE SHEET AND ATTACH TO THIS WORKSHEET.

23. A deposit of $5000 is made in a trust fund that pays 7.5% interest, compounded continuously. It is
specified that the balance will be given to the college from which the donor graduated affer the money has
earned interest for 50 years. How much will the college receive?

24. The number 7 of computers infected by a computer virus increases according o the model
V(1) =100&*“ , where t is the time in hours. Find (a) ¥ (1), (b) ¥ (1.5),and (c) V'(2).

25. Let Q represent amass of carbon 14 (**C') (in grams), whose half-life is 5715 years. The quantity of

carbon 14 present after f years is Q:IO(%)S"S. () Determine the initial quantity (when £ =0).

(b) Determine the quantity present after 2000 years. (c) Sketch the graph on your calculator over the
interval 1=0 to +=10,000.





